








Find the option which should replace (?)

ANT = 11420

YELLOW = ?

(A) 25612121523

(B) 25513131523

(C) 51212152325

(D) 51212623242



Find the missing CODE (?)

A = 1

CAT = 6

POLICE = ?

(A) 27

(B) 20

(C) 22

(D) 29



Find the missing CODE (?)

A = 1

AND = 18

BAT = ?

(A) 22

(B) 23

(C) 24

(D) 20



Find the missing CODE (?)

B = 0

MAT = 1

JOGLEX = ?

(A) 70

(B) 71

(C) 72

(D) 75



Find the missing CODE (?)

H = 8

HAT = 9

BOX = ?

(A) 16

(B) 13

(C) 12

(D) 11



Find the missing CODE (?)

REASON = 5

BELIEVED = 7

GOVERNMENT = ?

(A) 6

(B) 8

(C) 9

(D) 10



Find the missing CODE (?)

BAD = 7

SAP = 9

BAN = ?

(A) 8

(B) 3

(C) 4

(D) 6



Find the missing ONE (?)

16 : 64 :: 36 : ?

(1) 216
(2) 226 
(3) 244 
(4) 210



Find the missing ONE (?)

(A) 9

(B) 14

(C) 11

(D) 16
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10 13 8

7 9 7

8 ? 9



Find the missing ONE (?)

(A) 1

(B) 0

(C) 2

(D) 3
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7 23 21

1 3 ?

2 5 7

3 4 3



Find the triangle  (?)

1. 29
2. 28
3. 30   
4. 31
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Find number of triangle in the given figure ?
दी गई आकृति में तिभुज की संख्या ज्ञाि कीतजए?

(A) 7

(B) 9

(C) 8

(D) 11



Find the option which should replace (?)

Plant: seeds  :: ? : ?
पौधा: बीज : : ? : ?

A. Steam : hot /भाप: गमम
B. B. Tailor : Clothing / दजी: वस्त्र
C. C. Water : thirst / पानी: प्यास
D. D. Fruit : flower / फल: फूल



Statements:

All books are toys.

Some toys are notebooks.

No register is a notebook.

Conclusions:

Most of the toys are not 
registers.

All notebooks being books is a 
possibility.

EXAMPLE

कथन: 
सभी तकिाबें खिलौने हैं।

कुछ खिलौने नोटबुक हैं।

कोई रतजस्टर नोटबुक नही ं है।

तनष्कर्म: 
अतधकांश खिलौने रतजस्टर नही ं

हैं।

सभी नोटबुक के बुक होने की

संभावना है।



Statements:

Some crops are drops.

All drops are pearls.

No crops are wishes.

Conclusions:

No wish is a drop.

All drops being wish is a 
possibility.

EXAMPLE

कथन: 
कुछफसल बूूँदें हैं।

सभी बूूँदें मोिी हैं।

कोईफसल इच्छा नही ं है।

तनष्कर्म:
कोई इच्छा एक बंूद नही ं है।

सभी ड्र ॉप्स के तवश होने की

संभावना है.



Statements:

A few balloons are not toys.

All toys are bear.

No bear is wild.

Conclusions:

No wild is a toy.

No balloon is wild.

EXAMPLE

कथन: 
कुछ गुब्बारे खिलौने नही ंहैं।

सभी खिलौने भालू हैं।

कोई भालू जंगली नही ं है. 
तनष्कर्म: 
कोई वाइल्ड टॉय नही ं है।

कोई बैलून वाइल्डनही ं है.


